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Please check whether you have got the right question,bape_r'Tl AN AC NI SR

N. B. : 1. All questions are compulsory,

ISJos /19

Q. P..Code : 29147 .
o (TotalMarls's 60)

2. Figures to the right indicate full marks assigned to each question,

3. Draw neat diagrams wherever necessary.

1. a) Explain Veblen and bandwagon effect in detail.

-(08)

b) Discuss the application of elasticity of demandvaﬁd-sup’ply' to economic issues (07)

OR

¢) Explain various methods of price control ‘with:reference to' minimum floor and (08)

maximum ceilings.

d) With the help of income consumpt,io_ri.éuﬁe,,diséuss' of change in_income on  (07)

consumer’s equilibrium. o2 AN
2. a) Diagrammatically explain leas_tlcbSt‘\fz;gtor.”’c::_"oh:r_xbjpvafigr'i‘fofi,a‘gi?@ﬁ:Qutp_ut-; oy (08)
b) Discuss in detail the cost redgc\:”t_idjul."teé}}ﬂi_qﬁ.e?'th’r‘bu‘ghie'quriqhbe;f'_,, SR (07)
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¢) Distinguish between int\gfﬁa]'ai{d?‘fé_)i

college comes for i'qd”g's_tri\al-Viéiwtii@rAéia"aﬁq_-igivés an order for
The cost for doing”_ﬂﬁé:.iiipflg?iﬁs-ééiéﬁlat"éd’“alsr1_1 Fore g
T Wages ST x Cas000°
e Rawmalerials- - @0 9,000
B ~_Fiked'Costs~ . T 210,000
Would you'advise the firm to accept this order? If so why?

3. a) Explaix;lﬂy_‘a"ri(‘ju:s_‘met'ljddspf méaéﬁﬂﬁg monopoly power.
b)

. iefﬁal'gﬁbﬁoiﬁies ofscale. - :
d) Amit juice sandwitch céﬁf@;;'f'ht?_A"g;d_'géfts‘{théir_ income mainly from tourists. ABCD  (07)

(08)

%18,000.

(08)

llgsqate.’i'l}é;dqmyi.r_iél‘p"t, firm price leadership ‘model in oligopoly. (07)

S RS :: OR
c)Egp]amthewapphéatlon of j_ﬁ?_di;l‘Qf‘bfisrdger?";éi‘Vdilemma in market decision. (08)

d) MMWLuxurycarmanufacturmgcompany in India was founded in the year 2006 (07)

ol ;anﬁ}tl{ePﬁf_'st??:_ahﬁé‘slz.:lz"@up'cﬁcd‘fiﬁ:f2067.7"The company maint
AR tahc‘e;iﬁﬂdfi'a'qgclgéd; several-vehicles at different price points,

:s‘;:ﬁior';eic,c’:gtiVeS'_‘ﬁand'..ii‘djo\'p‘tedj’\in}iovative strategies to reach

 thecusfomers, .

)

“new competitors,-

N e ,g.','_ilde_'r:_lﬁ‘fy? the market structure mentioned in the case and

'v‘;\_'f«,'.f‘; F8DF06B3EEA3 |1 1E3FA387E23AB26F46B

ained an aggressive

ST ST MMWwasposltloned as'an, aspirational brand for young entrepreneurs and

the segment. It also

:"',de__véiob__é_d:,ie_}’(b'il'pi's“i\"iéy_;";__i_ééfl'é'r"'sh‘ips‘; which were used as touch points to interact with

Wuhmthrceygars,MMW went on to become the top luxury car manufacturer
“in '_Ir‘idié,",,fsbnja‘s"sih'g-'B'éni’bn and Porsch, which had been present in the country for
0 ",..'}np\ré':tﬁéﬁf a'decade, The case lists the strategies adopted by MMW on its journey to

reach _tQp*pOsitioh-dhd discuss the challenges it is likely to face from existing and

Justyfy.
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b. Discuss the strategics used by MMW to top luxury car market based on the
case.
4. a) Choose the right option from the following : (07)

i) A production function is used by management to know
n. The amount of input to buy.
b. The amount of input to use.
¢. The amount of output per unit of each input.
d. The amount of output using all inputs efficiently.
ii)  Alternative cost is also known as '
a. Incremental cost.
b. Opportunity cost.
c. Real cost.
d. Money cost. R ~
iii)  The problem with marginal concept is Lhat
a. Change in variables may not be in bulk. ‘e . j
b. Changein vanables may not bei in single unit. X
c. Outflow and inflow of resources may not be equal.
d. Outflow and inflow of resources may not be simultancous.
iv)  Which of the following is correct-for consumer’s equilibrium?
a. Ullhty is maxlmlscd at the longcncy of budget line-to an indifference
curve. : :
b. Atthe opllmnl pomt slope ofmd:ffcrcnce curve is equal to the slope
- of budget Jine. : -
~Atthe pomt of cqunhbnum consumer satisfaction is highest.
d All'of the above
V) . A pubhc good wn]l probably:
) -";a. be expenswe in free market..
EXE b ‘be OVerprowded in free market.
SN ‘, : 8 ¢. - ‘not to be prov;ded in free market
>35S S shaver no opportumty cost. -~
)
vi) " Neganve productlon extemahty means
a. Social margmal cost is greater than private marglnal cost.
b 780c1a1,margma1 lgeneﬁ( is greater than private marginal cost.
¢. Social morg'inél cost is greater than private marginal benefit.
d. Social marginal cost is less than private marginal cost.

vii) - If a firm earn normal proﬁt .
- a. They will try to leave the industry.
b. Others will join the industry.
"¢, Total Revenue = Total Cost.
d. No profit is made in accounting terms.
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5 b) Give Precise meaning of the following : (©08)

a. Economic profit,
b. Substitution effect. R -
c. Ridgelines. T A
d. Barometric firm. L
OR
4. Write short notes on any three of the following : :
a. Incremental and marginal principles. B DSRSA
b. Paradox of bumper harvest. SR :
¢. Public policy towards monopoly pow{e'r:' s
d. Non-price competition under oligopoly.. Sy
e. Nash equilibrium. A

(15)
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